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Write your Roll No., Answer-Sheet No., in the specified places
given above and do your signature.

Make all entries in the OMR Answer-Sheet as per the given
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After opening the seal, ensure that the Question Booklet
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printing of all the 150 questions is proper. If any
discrepancy is found, inform the invigilator within
15 minutes and get the correct booklet.

While answering the question from the Question Booklet, for
each question choose the correct/most appropriate option
out of four options given, as answer and darken the circle
provided against that option in the OMR Answer-Sheet,
bearing the same serial number of the question. Darken the
circle only with Black or Blue ball point pen.

Darken the circle of correct answer properly otherwise answers
will not be evaluated. The candidate will be fully responsible
for it.

Thére are 150 objective type questions in this Question
Booklet. 1 mark is allotted for each correct answer and
1/4 mark will be deducted for each wrong Answer.

Do not write anything anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR Answer Sheet
and cover page of question booklet is to be handed over to
the invigilator. Carbon copy of the Answer-Sheet and
Question Booklet may:be taken away by the examinee.
This Question Booklet consists of Parts namely :

(1) Physics Chemistry 30 Marks
(2) Organic Chemistry 35 Marks
(3) Inorganic Chemistry 35 Marks
(4) Education Psychology, Education 30 Marks
Evaluation and Assessment, Pedagogy,
Teaching Attitude
(5) General Hindi 05 Matks
(6) General English 05 Marks
(7). General Knowledge of Computer 05 Marks
(8) General Knowledge 05 Marks

All questions are compulsory.
In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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PART - 01
Physics Chemistry

One mole of N,H, loses 10 mole of
electrons to form a new compound Y. If
all nitrogen appears in new compound,
the oxidation state of nitrogen in Y will
be :

(The oxidation state of hydrogen remains
the same during conversion)

(A) +5
(B) +3
€ +1
(D) Zero

The temperature dependence of rate
constant is expressed by Arrhenius
equaiton.

—Ea
k= AeRT

Under what condition the value of rate
constant is the smallest ?

(A) High Temperature and large E,
(B) High Temperature and small E,
(C) Low Temperature and large E,

(D) Low Temperature and small E,

1T - 01
Wifeaer =

Th |t N,H, 10 Al sorag 95 & g
e 71 Ak Y 1 Fomior e §1 9fe @
TEEeH 3 Aiftw ¥ sufteq & T @, @
Y H SIS i SATRATHT0T STt Bl

(o H RS i AR Sqaeen
M &t # 1)

(A)  +5
(B) +3
C) +1

(D) =

aﬁaﬁmwmaﬂwaﬂ%ﬁww
BRI e fopan ST &

—Ea
k= AeRT

fra oftfeafa 9 R faais =1 7 0w
B ?

(A) SEAYTE THE,
(B) S=d M e T E,
(C) =1 qmM s SE,
(D) T a9 wd =1 E,
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2A —» B+ C would be a zero order

reaction when :

(A) The rate of reaction is proportional
to square of [A]

(B) The rate of reaction is same at any

concentration of A.

(C) The rate of reaction is same at any
concentration of B and C.

(D) The rate of reaction is doubled if
concentration of B is increased by
two folds.

Copper crystallizes in fcc lattice with a
unit cell edge of 361 pm. The radius of
copper atom is :

(A) 181 pm
(B) 108 pm
(C) 128 pm
(D) 157 pm

Which concentration can be calculated if
the mole fraction and density of aqueous
solution of HCl are known (a) Molality
(b) Molarity (c) Mass Percentage ?

(A) (a) only

(B) () only

(C) (a) and (b) only
(D) (a), (b) and (c)

2A — B+C T I *ife &t srfafeman it

e foh :

(A)  sfaforan =it ST [A] & & % FEIART
Kl

(B) aAfufsran =6t 3T A =t foredt ot g
WHAH A |

(C) fufshan =t B T C & forelt o
Tl W GHH 8

(D) AT B &t Grsdl T & & I@ @
sifafshan =6t X ST & SR

FHIT foc SIS o AW Fhelidhd il ©
fgent ws I 1 361 pm 1 HW
T e R

(A) 181 pm
(B) 108 pm
(©) 128 pm
(D) 157 pm

fe HCl & Seity faer@m o1 =it J=mor qe
T 9 @ faerae ) A e )
ufywfaa w1 S gwdl @ : (a) HiETor
(b) HIET (c) TN WfcsTad ?

(A) F9A (a) |
(B) A (o) ¥
(©) () T (b) ¥
(D) (a), (b) T (c) ®
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Set - A

0129/ TE-CHEM/RCE-M



For the decomposition of PCIs(g) in a
closed vessel, the degree of dissociation is
o at total pressure P.

PCls(g) = PC13(g)+C12(g) which of the
following relation is correct ?

_ 5
GV K,+P
\/Kp +P
B o=

(B) K,

) a=/K,+P
o= 1

(D) - K, +P

0.5 mole of Barium chloride reacts with
0.2 mole of sodium phosphate, the

maximum number of moles of Barium .

phosphate that can formed is :
(A) 0.7
(B) 05
(€ 0.2

(D) 0.1

6.

ST PClLy,, 1 e % ford, formes
Ht A o FE PR R :

PCls(g) = PCly ) +Cly, Fre1 & § #i w
RECK:

i
(A) a_'\/ K,+P

K, +P
(B) °‘=\/E

© a= /K +P

@ 7R P

0.5 HWie 9w FAEE 0.2 e Sifeay
WIS § fuftnar e & S wiohe &
ffia werffuer Hie =t de @ Tt
(A) 0.7

(B) 0.5

Q) 0.2

(D) 0.1
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Which one of the following is an example
of heterogeneous catalysis ?

(A) Formation of SO, in lead chamber

process
(B) Formation of SO, in contact process

(C) Hydrolysis of ester catalysed by H*
ion

(D) Decomposition of KCIO, in
presence of MnO,

Consider the following three solutions :
(a) Sodium Acetate

(b)  Acetic acid +Sodium Acetate

(c) Acetic acid

Correct sequence of pH of solutions is :
(A) (©<((®)<()

(B (b)<@<(©

© @<®<(

(D) (@ <(@)<(b)

e o 1 T T ST H1 ISR ¥ Y

(A) H w8 YA § SO, i fmiu

(B) ¥ fafy # SO, =1 fHiw

(C) H* 378 IR TR 1 SeT TS

(D) MnO, I Jufearfd # KCIO, i fase

o d faerrl ™ faEr Fifd
(a) wifeam e

(b) Ueifes smer+Hifeam TEee
© i

forerarl % pH &1 W& 9§

B) ©<®b) <@

B b)<@<©

© (@)<® <

D) ©<@<(b)
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0.

11.

Consider the following statements :

(a) Total number of orbitals in a shell
with principal quantum number ‘n’
is n2.

(b) Total number of subshells in the
‘n'™ energy level is ‘n’.

(c)  The maximum number of electrons

in a subshell is given by (4] +2).
(d) m=I1+2 where
[ =azimuthal quantum number
m=magnetic quantum number
Correct statements are :
(A) (@) (0 and (d)
(B) (@), (b) and ()
(©)  (b), (c) and (d)
(D) (@), (b) and (d)

The root mean square velocity of a certain
gas at 27°C is 3x10* cms~1. The
temperature at which the root mean
square velocity of the gas will be
6x10* cms 1.

(A) 54°C
(B) 108°C
(C) 1200 K

(D) 600 K

10.

11.

T el X foem wifE

(a) WM FAUIH F&A ‘1’ TS Th B H
Jufeerd enfsfeal # Fel & n2 71

(b) ‘n’ 9 ol wR F fod Fo sq=ien =t
& 0’ B

(c) Toreft U= § geraeil i waiftys
e (41+2) 511 fean S g1

(d m=I+27 %
1 ="Terisht smmvey demn

m ="YhIY FA0TH GE&Al

(A) (@), (0 T (d)
(B) (a), (b) T (c)
© (), (0 W (@)
(D) (a), (b) T (d)

27°C W T A9 &1 g1 wieq a0 A
3x10% cms—1 %1 aruse, ford i w1 q@
T a7 AT 1AM 6 X 104 cms—1 BT

(A) 54°C
(B) 108°C
(C) 1200 K

(D) 600 K
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12. A buffer solution contains 0.1 mole of  12. Th 5w foerm § 0.1 Wi Aifean Twde
sodium acetate dissolved in 1000 c.c. of T 1000 c.c. 0.1 M THifesw o1 # oo
0.1 M acetic acid. On addition of 0.1 mole fra g0 ﬁﬁm@ﬁ? 3R faeren
of sodium acetate is further added, the TR, @ Wﬁ'UTIﬁT SR T pH BRT ;-
PH of resuiting buffer is :
(A) pK, (A) pK,
(B) pK,+2 (B) pK,+2
Q) pK,-log2 (©) pK,~log2
(D) pK,+log2 (D) pK,+log2
13.  For a reaction 2N,05 — 4NO,+0,. The  13. 2N,0; — 4NO,+0, fufean & fad,
rate of reaction is : SffsRaT T
1 d[N,Os] ‘ 1 d[N,Os]
(A) 2 dt (A) 2 dt
d[N,Os] d[N,Os5]
2= o ~12Y2V5]
(B) dt B 2=
1 d[NO,] 1 d[NO,]
© 4 dt © 4 dt
d[NO, ] d[NO;]
4——r== g —21
0 49 ©
14. Among the following which are 14. i1 % em FH e gafer & 82
mismatched ?
(@) Sol - Purple of Casius (a) Wi - 99 3R Higgw
(b) Emulsion - Milk (b) HEE-TY
(©) Gel - Sea Foam (c) ST - TR
(d) Aerosol - Pumice Stone (d) TErE - HfHer TR
(A) (a) and (b) (A) () T (b)
(B) (b) and (o) B) ()T ()
(©) (¢) and (d) © (W (d)
(D) (2) and (d) (D) (a) T (d)
SPACE FOR ROUGH WORK / T% &8 & &9 wvig
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The temperature at which real gases obey
the ideal gas laws over a wide range of
pressure is called :

Critical temperature
Boyle temperature
Inversion temperature

Reduced temperature

15.
(A)
(B)
©
(D)

16.

17.

Among the following statements. Which

statement is not correct ?

(A) Fluorine is the strongest oxidising
agent.

(B) ITion is the powerful reducing
agent.

(C) Equivalent mass of K,Cr,O, in
acidic medium is ER

(D) 3CI0" — ClO3 + 2Cl isa

disproportion reaction.

If uncertainty in position and momentum
are equal, the uncertainty in velocity is :

1 |h
(A) *2;\/;

h
(B) \/;

h
@ —=
© |

15.

16.

17.

T & forqa 7O H, amgeew fed arsfask
o sreel Wi & fradl o Ao w8 w
FEdE :

(A)
(B)
©
(D)

STk AT9shH
Higel qIshA

PIGGIEERGIRER
THFEIG qIhH

Frer Ul F T B W R T T S 2

(A) TARI YeeTaH ST 2 |

(B) I~ 3T JoiAl SN & |

(C) ot 7 § K,Cr,O, i qedichl

M
HHT?%I

(D) 3CIO~ — ClO; + 2CI° TH
faerufas sifufsean ¥

gfe feafq qen daw I FH & AFF=a@

TEE 2B, | S e A 1 AR ©
h

(4) ﬁ\/;

® (o

y1y
15k
my T

(©)

h
D) =

o™

SPACE FOR ROUGH WORK / T% & & fe& S8
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18.

19.

20.

Which can adsorb larger volume of
hydrogen gas ?

(A) Colloidal solution of Palladium
(B) Finely divided Nickel
(C) Finely divided Platinum

(D) Colloidal Fe(OH),

The solubility of a sparingly soluble salt is
S, the specific conductance (K) and
conductance at

equivalent zero

concentration are related as :

1000
5=\
(A) Ko
(B) S=Kx,
_ K
© 1000 A
_ 1000K
(D) T N

Which of the following electrolyte will
have maximum flocculation value for
Fe(OH), sol. ?

(A) NaCl
(B) NaoS
(©)  (NHy;PO,

(D) K,SO,

18.

19.

20.

P TR T sifuwa § sifugifig w0
el & ?

(A) Tafezm =1 wiemEa faerm
(B) =ik fien gem frsha

(C) i o gon wife™

(D) WIS Fe(OH),

T 3l 31eq faorg oo =) faeiaan ‘s’ 1,
fafyrse <mereshan (K) & I 9rsdl W geich!
TTeAeh Heyd ®

1000
(A) S=-3 o

(B) S=K,

K
S =
© 1000 A

_ 1000 K
Ao

(D) S

Fe(OH)3 qra. %mmﬁgﬂ TS 1
TJRAIHISH A Haifereh 8 ?

(A) NaCl
(B) Na,S
(C)  (NHy);PO,

(D) K,S0,

Set- A
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21

22.

23.

An X molal solution .in carbon
tetrachloride shows the mole fraction of
solute equal to 0.23527, the value of X is :

(A) 1.55
(B) 1.82
(C) 2.00

(D) 2.16

When a lead storage Dbattery is
discharged, then :

(A) PbSO, is consumed
(B) SO, is evolved
(C) Lead is formed

(D) H,SO, is consumed

The temperature at which the molarity
of pure water is equal to its molality ?

(A) 273K
(B) 298 K
(C) 277K

(D) 300 K

21.

22,

23.

HT WERIEE % X Ao faeer ¥ faea
1 Hie YT 0.23527 % I §, X H1 AH
g

(A) 1.55
(B) 1.82
(C) 2.00

(D) 2.16

<9 TF o GuEE Selt 1 fewrst g &
a9 :

(A) PbSO, ST Bl ¥ |
(B) SO, T Bl B

(C) e =t fmiu g j
(D) H,S0, SN Bl &

foFg qUHH TGS ST H AR, Hiewerd
F g T R ?

(A) 273K
(B) 298 K
(©) 277K

(D) 300 K

SPACE FOR ROUGH WORK / T% &1 & fad s
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24.

25.

Under which condition would the free
energy change for a reaction be relatively
temperature independent.

(A) AH°<0
(B) AH°>0
(C) AS° has large positive value.

(D) AS° has a small magnitude.

When zinc metal is added to an aqueous
solution containing magnesium nitrate

and silver nitrate, then :

(@) Znis oxidized.

(b) Mg?* is reduced.

(c) Ag™ is reduced.

(d) No reaction takes place.
(A) () and (b) only

(B) (a) and (c) only

(©) (@), (b) and (¢)

(D) (d) only

24.

25,

fore aRtfeafa | foredt stfufsen & fod g
Sl qREdd STUeda a9k W s B,
1 T

(A) AH° <0

(B) AH°>0

(C) AS° 1 A I=d TS EFTHS & |

(D) AS° %1 M 1=t afimmor 1 8|

s i urg 1 AR e e fre
?%@Wﬁwﬁﬁww%
(a)  Zn 1 AR Fre B

(b) Mg2+ T STFHTT Bl B |

(c) Ag™ o STHI BT B

(d) rE foran =1 Bt

(A) I (a) T (b)

(B) e (a) WH (c)
(OENCIHORCEC)

(D) Faa (d)

SPACE FOR ROUGH WORK / T% & & a3 se
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26.

27.

28.

In an antifluorite structures cations
occupy :

(A) Octahedral Voids
(B) Centre of the Cube
©)

(D)

Tetrahedral Voids

Corners of the Cube

The heat of combustion of solid benzoic
acid at constant volume is —32.30 kJ at
27°C. The heat of combustion at constant

pressure is :

(A) —321.30-300R
(B) —321.30+300R
(C) —321.30—150R
(D) —321.30+900R

Camphor is often used in molecular mass

determination because :

(A) ltis readily available.

(B) It has very high cryoscopic

constant..

It is volatile.

©
(D)

It acts as solvent for organic

substances.

26.

27.

28.

TATAEE Ga | 9 Sufed &l
?:

(A) STewerE Rl §
(B) THHHEH

(C) <=gerae il &
(D) TH % HA W

feeR ST W 319 SSigeh TR ohi T8 oAl
27°C W —32.30 forell 5@ 8, fer @ W
WW%:

(A) —321.30—300R

(B) —321.30+300R
©

(D)

—321.30—-150R

—321.30+900R

TR T T A H R Y H S
a1 & =i :

% TRl § IqeTed T

ToeT TawiemfiT forish S=d 31

(A)

(B)

g IR T

75 e el % ol foem @
FHE HEA T

(©)
(D)

SPACE FOR ROUGH WORK / 7% &1 & fo& s'e
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29. How many coulombs: of electricity are 29. TH A H,0, 10, H giiadia & fod
required for oxidation of 1 mole of H,O, e el fagd =1 sTemaehar Bt € 2
to O, ? 3
(A) 9.65x10* C (A) 9.65x10* C
(B) 1.93x10*C (B) 1.93x10*C
(C) 1.93x10° C (©) 1.93%x10°C
(D) 93000 C (D) 93000 C
’?
30. Consider the following statements about  30. = srfergirer & ford foret sperl o faram
Vander Waal adsorption : HIfS
(a) Heat of adsorption is about (a)  SATRIEOT ST SIS 20 - 40 TR
20 - 40 kJ mol 1. SEAEE-LE
(b) Gases with higher critical (b) =T Sk qIOsRH el T S ©
temperature are readily adsorbed. st Bt €1
(c) Itis specific in nature. (c) e fafere gefa = B B
(d) Degree of adsorption increases with (d) < gfg e sAfrensER 7 E gig
temperature. B B
Wrong statements are : Ted oA T
(A) (a) and (b) (A) (a) T (b)
(B) (a) and (c) (B) (a) T (c)
(©) (b) and (c) © B T()
(D) (c) and (d) (D) (o) @i (d)
SPACE FOR ROUGH WORK / % &TH % fa& g
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PART - 02

Organic Chemistry

31. In the reaction 31.

The major product ® is : |
(A) o - toluidine
(B) p - toluidine
(C) m- toluidine

(D) p - chloroaniline

32. Which of the following is not an 32.

antibiotic ?

(A) Pencillin

(B) Chloramphenicol
(C) Sulphaguanidine

(D) None of these

T - 02
Tt +eh TETE

afafea o

(C) wewHrATSH
(D) T § = T

SPACE FOR ROUGH WORK / 7% &/ & for&l s
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33. Which of the following will not form  33. = # @ %1 I,/OH~ % Wy sifufran =
iodoform with I,/OH™ ? FISIHH & S ?
(A) Isopropyl alcohol (A) AEHHITES STehied
(B) Ethanal (B) &
(C) Ethanol (C) 3&Ta
(D) Benzyl Alcohol (D) S=IEe STeehiedt
CHg CHs
34. CH3-C-O-CH,—-CgHs can be 34, CH3—(I:_O"CH7_—C6H5 &1 fafeemea
|
CH;, CHjy
prepared by Williamson ether synthesis S Hyerwor grI T & WA | e feman s
using : TqFAR
CH; CHs
(A)  CH3-C-CH,Cl and CgH;ONa (A) CH;- (lj — CH,Cl 3R C¢H;ONa
|
CH3 CH3
CHj CHs
(B) CHCH,Cl and CH3—C—-ONa (B) C H.CH,Cl 3R CH;3— (:: —ONa
|
CH3 CH3
CH; CHs
(© CHz- c-cl and C4H,CH,ONa (©) CH;- c-a ¥R C,H;CH,ONa
CH;, CHj
(D) All of these (D) ST &+t
SPACE FOR ROUGH WORK / T% & & &9 wTg
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35.

36.

37.

Primary nitro compounds reacts with
nitrous acid to form nitrolic acid which
dissolve in sodium hydroxide to give :

(A) Blue solution
(B) Yellow solution
(C) Red solution

(D) Colourless solution

When propanol is heated with Zn-Hg and
conc. HCl, which is formed ?

(A) GiHg
(B) GC,H,Cl
(© GCiHy

(D) GCyHg

Chlorination of boiling toluene in the
presence of sunlight followed by
treatment with aqueous NaOH gives :

(A) 2,4 - dihydroxy toluene
(B) o - cresol
(C) p - cresol

(D) Benzoic Acid

35.

36.

37.

e ee AT Egw oF | erfufh
FT AEEIAE o s ® S wifeww
TeetEe H foe A I R

(A) fren fomrEA
(B dren e
(C) v faerm
(D) T faerm

w9 WAt 1 Zn-Hg 3R 9% HCL % 91
Tt fofra ST &, o T B R

(A) GC3Hg
(B) GC,H,Cl
©) GCHy

(D) CiHg

T % Wt okt Sufeafa # Seerd g AT
1 TR0 Feaeee e NaOH & 91
sfufeman O T T e €

(A) 2,4 - SEEESE I

(B) o-Hu

(© p-Fu

(D) d=irgeh 3T=A

SPACE FOR ROUGH WORK / T &1 & fad e
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38. Deficiency of Vitamin - E causes : 38, fefmEw =M adag:
(A)  Sterility (A) SRt o
(B) Beri-Beri (B) =J-adt
(©) Scurvy (C) Thal
(D) None of these (D) 3 9§ HE Tl
39. Which of the following is most basic.? 39. 1 9 9§ %A waifyes arig €2
TN m
@ L @ L
| ]
N’ N
® ®
H H
l \f NH, l \(NHZ
C C
©) - g ©) [/
-~ P
| A
© ©
NH, NH,
SPACE FOR ROUGH WORK / T% &1d & fo& W
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40. Total no. of structural isomers in C,H;y N 40. C 4H11z.waf> Fd Wwﬁ‘&h Ea

are : s
(A) 8 | (A) 8
(B) 6 (B) 6
C) 4 C) 4
(D) 10 (D) 10

41. How will you distinguish the products 41, ST ST STUEEd & UYET g Rl Exs|

obtained by acidic hydrolysis of : fadfea =7 :
(fH3 CHj
® /‘\ OCOCH; ® /\ OCOCH;
O g~ OCOCH; W S OCOCH;
(A) NaHSO, (A) NaHSO,
(B) Lucas reagent ‘ (B) HFH Irfierteh
(C) Fehling's solution (C) efem faem=m
(D) Brady’s reagent (D) o€t Ak
42. The IUPAC name of vinyl acetylene is : 42. foree wEfeeta %1 IUPAC M ©
(A) But-1-yne-3-ene (A) FE-1-TEA-3-F1
(B) But-1-en-3-yne (B) S -1-F7-3- 3
(C) Pent-1-en-4-yne (C) Ye-1-31-4- 3
(D) Pent-4-yne-1-ene (D) U=2-4-9MH-1-¢

SPACE FOR ROUGH WORK / T w1 & o s
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o 3 2 o T e i SRR

43. Which of the following cémpoundsm é 43.
natural biopolymer ? 87
(A) DNA (A) Eg
(B) Rubber (B) W
(C) Nylon (C) g
(D) Teflon (D) T
44. Which of the following is a hypnotic ? 44. =9 9 B o Feemd §2
(A) metaldehyde (A) TICfeSTRS
(B) acetaldehyde (B) TUfHefeergs
(C) paraldehyde © Tfeeers
(D) none of these (D) T 9 HE
i) O i) O
45. Cumene 8) ;20/H+ O+ Q@ 45. Ei:) P;o/H+ "®+Q
@ and @ are respectively : @ a1 @ T T
(A) Toluene, Propene (A) e, GrdE
(B). Phenol, Acetone (B) WA, THER
(C) Phenol, Acetaldehyde ©) Wi, Taecdinme
(D) Toluene, Propylchloride (D) e, Witer FiEs
46. An organic compound contains 46. TF HEH AGfer H 4% T 2 THhl
4% sulphur. Its minimum molecular wt. ATH IR  ?
is :
(A) 400 (A) 400
(B) 200 (B) 200
(© 1600 (G 1600
(D) 800 (D) 800
SPACE FOR ROUGH WORK / T% &T& & fead srrg
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47. The carbon atoms of glucose involyed in 47. "ﬁﬁfﬁl %5 SIS HIETE | e T

osazone formation are : W‘Eﬁ g:

(A) 2and3 (A) 2791 3
(B) 1and2 (B) 172
(C) 5and6 (C) 5aM6
(D) 3and 4 | (D) 3adq4

48. Which will show carbylamine 48, T ¥ Q i wfdiceri stfufsan <m ?

reactions ? |
H H
r‘q—csz llI—CHg,
(a) @ (A)
H;C—N-CHj H;C-N-CHj
® e () @
= F
NH, NH,
(©) @ © | -
F F
H | H
llT—CH3 IlI—CH_o,
IS
o | /\ (D)
CH, CH,

SPACE FOR ROUGH WORK / T &Td & fed simg
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49. A substance C5Hy, doe$ not reduce 49, U g CSHlof tafei faerem o staafd
Fehling’s solution, forms a phenyl &l T, TREE SRS 9§, §elihH
hydrazone, shows the haloform reaction SAfYfwan <ar © IR Yed AUEES ¥ g
and can be converted into n-pentane by n-U=A # Rafda 3 S €1 9o vered
strong reduction. The structural formula HEHAHS = g
of the original substance is :

(A) C,H,COC,H; (A) C,H.COC,H;

(B) CH,COC,H, (B) CH,COC,H,

(C) CH,COCH(CH,), (C) CH,COCH(CH,),
(D) C,H,CHO (D) C,H,CHO

50. Which of the following reagent used for  50. WM i YgaN & fau o § @ <1 @

the detection of Protein ? STy FgFa ST § ?
(A) Conc. HNO, (A) ¥R HNO,

(B) Fehling Solution (B) afein faemm
(C) Tollen’s Reagent (C) 3w faeam

(D) None of these (D) T W P TR

51. Which has a smell of oil of winter green? 51, fHEH fa=t T &% A I 7T 2t © ?
(A) Benzoic Acid (A) S=igH ST
(B) Benzaldehyde (B) ANIceTRS
(C) Methyl Salicylate (C) Hfye dfafaere
(D) Acetyl Salicylic Acid (D) uHiea Gfefafas swa

SPACE FOR ROUGH WORK / T® &t & o1& sTg
Set - A 22 0129/ TE-CHEM/RCE-M



52. Which of the following is the strongest 52. T ® B W Ve fRTEERT ??
nucleophile ?

o ©
(A)  CH;50: (A)  CyH50:
' o
(B) 8}{ (B) :OH
©
© T © 1
o 9

53. Which of the following is the most stable ~ 53. 1 H J B 1 i waifues v § 2

species ?

(8 (A) @
® ® /Q\
© ©
©) ©)

SPACE FOR ROUGH WORK / % %4 & ford s
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54. Salicylic Acid is prepared from phenol  54. Hfafafes o7 # wHta ¥ frer stfufspen
by : BRI 9T T S g
(A) Cannizzaro reaction (A) TR sifufran
(B) Reimer-Tieman reaction B) -3 sifufwran
(©) Kolbe reaction (C) hies aafufsran
(D) None of the above (D) WK H | i T8l
55. 0.037 g of an alcohol (R-OH) was added ~ 55. 0.037 UT. T& eHigd (R-OH) H1
to CH3;MgBr and the gas evolved CH,MgBr # fHe w 11.2 fieft STP W
measured 11.2 ml at STP. The molecular 9 frererdt 1 oTeeheat STUIHR BT
mass of alcohol will be :
Ay 77 (A) 77
(B) 47 (B) 47
<© 79 <G 79
(D) 74 (D) 74 '
56. In the sulphonation of benzene, the active 56. =N % TR | Hihg el §
species involved is :
(A) SO, (A) 50,
(B) SOz~ (B) soi”
(©) SO (€) SO,
(D) HSO; (D) HSOj
SPACE FOR ROUGH WORK / 7% &T¥ & fe&r wg
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57.

58.

59.

Propene and propyne
distinguished by :

(A) Br,/CCl,

(B) dil. KMnO,

- (C) conc. HySO,

(D) AgNO,/NH,OH

The poisonous gas evolved in Bhopal gas 58.

tragedy was :
(A) CO

(B) CH,NCO
(C) CH3NC

(D) CH,CN

Which of the following may be prepared  59.

by Gabriel phthalimide synthesis ?
(A) Aromatic amines

(B) Aliphatic 2° amines

(C) Aromatic amides

(D) Aliphatic 1° amines

can be 57.

It e W B favg 9 e €

(A) Br,/CCl, % R
(B) T3 KMnO, % §N
(C) §= H,50, % g1

(D) AgNO,/NH,OH % 5N

e g Eoret § i € St e e
oft ?

(A) CO
(B) CH,NCO
(C) CH,NC

(D) CH,CN

firer § R 2 Aera Aferres dyamo % g/
ST ST Hehell © ?

(A) THfeH ST
(B) ufethfes 20 ST
(C) e TR
(D) ufethfes 1° ST

SPACE FOR ROUGH WORK / T &4 & f&& s' &
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60. Phenolreacts with PCl;, the main product 60. NS PCly ¥ rfufear s %‘, & IUG
is : " % :

7
0 @oted W@t

» (Orot-0 ® ©ro-t-{0)
G ©

(D) @Cl (D) @G

SPACE FOR ROUGH WORK / 1% & o fd e
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‘Which of the following will have lowést

0129/ TE-CHEM/RCE-M

61. 61
heat of hydrogenation per mole of =Aqn Bt ?
compound ?
/ L /x‘w"///\\\“‘ / \]A\_,/\\
w | | (a) Py
S N NF S N NF
N =
(B) | | ®)
N NF =~
(©) H ] © l )
““th// //
/TN TN
N N
(D) “ U (D) E H
—/ N— /
62. In a given reaction : 62. fed md sifufsran |
O O (i) CHzMgBr o (i) CH3MgBr
N (Excess) THRT (W)
CeHs—C—C—-CgHs — —'*® CeHs—C—C—-CgHy ——— =~ +®
(11) H3O (11) Hgo
@ will be : @ B
e OHOH
CH—C-C-C¢Hs . '
(A) ST T TS (A) CeHs—C—-C—Cells
CH, CH, CH, CH,
(B) C,H,COOH () CH.COOH
(©) CHCH(OH)CH(OH)CgH; ©) CH.CHOH)CH(OHCH;
OHO
CH lC (IZI CeH (l)H %)
(D) Cets =TT (D) CeHls—C—C—CeHls
CHs CHs
SPACE FOR ROUGH WORK / 1% @1d & e s
27 Set -'A



63. The decreasing order of acidic characters 63. A H ARMI TSI FAH T :
of the following is :

(a) p - nitrophenol (a) T - ARSrEHE
(b) o - nitrophenol .. (b) 3meft - EERAA
(c) m - nitrophenol (C). Hel - gt
(d) phenol | d) wE

(A) @>(®)>(>(d) 8 (A) @>®)>(@>(@d)
B) () >(@)>(d)>() (B) (b)>(a)>(d)>(c)
© (b)>(@@)>(c)>(d) © ®)>@>(>(d)
D) @>®)>(>() (D) (a)>(b)>(d) > (c)

SPACE FOR ROUGH WORK / T® & & ford) w e
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64. In the reaction : 64. Atafeman o

(ﬁ{g OCH;, i
IS IS
@ CH3Cl/AICl; | ® ‘ CH,Cl/AICI; ®
=N ~ NN
The product @ will be : I @ BT
OCHj OCHj;
$ 1)j
(4) (A)
= F
CHj CN CH, CN
OCHj OCHj
H3C\(L\\ _CHa H,C CH;
(B l . B
(B) \%‘L N (B) N
CH, . CHs
OCHj4 | (|)CH3
® (]
C i e 1
© T)\‘CN 1 S e
CH, ! CHa
OCHj, OCHj,
H3C\’/L¥ H;C .
() | (D)
CHa ~ N CH, ~ NN
65. Dacron is an example of : 65. SoHIT TH ISR ©
(A) polyester (A) GIfeTEX
(B) polyamide (B) UifTLHIES ol
(C) polyurethene (C) iferifem =
(D) None of these (D) THH HIE el

SPACE FOR ROUGH WORK / {® &1d & o e
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PART - 03

Inorganic Chemistry

66. Structure of CIFZ_ and CIF,* are :
(A) Linear and bent
(B) Linear and Linear
(C) Angular and Linear

(D) Angular and Pyramidal

67. Li does not occur with Na or K.
(A) Liis very reactive
(B) Liis less reactive
(C) Liis too small

(D) IP value is high

68. Which of the following statements is
correct about the fluorides of Xenon ?

(A) XePtF, was the first noble gas

compound isolated.

(B) With SbF;, XeF, acts as a Lewis

basic.

(C) With RbF, XeF, acts as a Lewis acid

(D) All are correct

UTT - 03
3ThTaTh THEAT

66. CIF,” T CIF," 1 W= & :
(A) TEE TE o
(B) ¥ TE &
(C) =iftg Td &
(D) wifora wa faafafen

67. Na 31K % 919 Li & 9/ S § |
(A). Li srcafus framie 7
(B) Li %9 ferameiie 31
(C) Li9gd BRITI

(D) IR T &1 o 3= ¥ |

68. SIHIA o TANIESl & HaY H A T HeA
A E?

(A) XePtF, Teen Hie@ W Afen, &
gk TR TR |

(B) SbF; % W1¥ XeF, TgH &R i *ifd
M H R

(C) RbF % W XeF, G359 a1t ot i
T AT T |

(D) W Tt W ¥

SPACE FOR ROUGH WORK / T% &Td & &d Wg

Set - A
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69.

70.

71.

72.

High purity copper metal is obtained by :
(A)
)
©)
(D)

Carbon reduction
Hydrogen reduction
Electrolytic reduction

Thermite reduction

The colour of Cs,O is :
(A) White

®)
(C) Pale Yellow

Yellow

(D) Orange

Number of electrons transferred in each
case when KMnO, acts as an oxidising
agent to give MnO,, Mn?*, Mn(OH),,
MnOj~ are respectively.

(A) 3,54 and 1
(B)
(C) L3 4and5
(D) 54 3and 1

4,3,1and 5

The ionisation potential of which element
is highest ?

(A) H
(B)
(©)
(D) F

He
Ar

69.

70.

71.

72.

Y% I T U B 1
(A) SEA TIEEA |
(B) TEESH T §
(C) ot sro=em |
(D) T STEE W

Cs,O FITE :
(A) W
(B) rem
(C) ook el
(D) R

KMnO, & MnO,, Mn?*, Mn(OH),,
MnO3~ o W Tt de & geiag

EF-TGF BRT | ST&f KMnO,, T STeRiiehReh
i wifa T

A) 3,54, 3R 1
B) 4,3,13R5
(C) 1,3,43R5
(D) 5,4,33R1

forg a1 A fave waifus 82

(A) H
(B)
©)
(D) F

He
Ar

SPACE FOR ROUGH WORK / T &1d & & g

0129/ TE-CHEM/RCE-M
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73. What is the chemical formula of Fool's 73. el Tiee  qHrEafTe g3 g7
gold ?
(A) FeCO,4 (A) FeCO4
(B) FeS, (B) FeS,
(C) FeyOs. 3H,O (C) Fe,05. 3H,0
(D) FeO. TiO, (D) FeO. TiO,
74. What is the oxidation state and nature of 74. N3H 3R NH, H EESIS hi IR
hydrogen in N;H and NHj, ? AT o TSI i Yhid FAE 2
(A)  +1, (acidic) and +1, (basic) (A)  +1, (s=f) @R +1, ()
1 1
(B) +-3-, (acidic) and +1, (basic) (B) +-3—, (eTel) $R +1, (&09)
1 1
(©) *3, (acidic) and +1, (neutral) © *3 () IR +1, (STE)
(D) +1, (basic) and +1, (acidic) (D) +1, (803) iR +1, (=)
75. Which will have the highest thermal  75. a1 Senfocaar fe o70] =1 waifferss grm 2
stability ?
(4) PH, (4) PH,
(B) NHy (B) NH,
(©) (CHy,N (C) (CHy,N
(D) (GH5),N (D) (CoHg)sN
76. Which of the following cannotbe oxidised ~ 76. 7= ¥ § & H,0, 5 3Tefiehd & & 2
by H,0, ?
(A) Os (A) Oy
(B) KI (B) KI
(C) PbS (C) PbS
(D) Na,S0, (D) Na,50,
SPACE FOR ROUGH WORK / & &rd & foér s
Set- A 0129/ TE-CHEM/RCE-M



77.

78.

79.

Potassium cannot be extracted by
electrolysis of fused KCl alone Why ?

(A) temperature is high
(B) Vaporisation of metal
(C) Potassium is insoluble in KCl

(D) Potassium ion have low discharge
Potential

Which one of the following is the strongest
acid ?

(A) SO(OH)#
(B) SO,(OH),
(C) ClO,(OH)

(D) ClO,(OH)

Square planar complex is formed by
hybridization of which atomic orbitals ?

(A) 5, le py’ pz’ dyz
(B) s Py Py di2_y2
(©) s Py Py d2

(D) s Py Py dx—y

77. had Tfed KCl % faga-staees | defirm

78.

79.

T A& R < W ) 2

(A) ¥= A

(B) g =T STSHIEhTT

(C) eferm w1 KCl ¥ sifaer g

(D) Orefr ST i fEET & FH A

1 & 9 i i ST R 2

(A) SO(OH),
(B) SO,(OH),
(C) CIO,(OH)

(D) ClIO,(OH)

o~ Tepet harenl & Trsfesu | ol wHacei™
Sifet it sd €2

(A) 8 pyPy Py dy,
(B) s, pypyd2_2
© s Py Py’ dz2

(D) s pyPrdi_y

SPACE FOR ROUGH WORK / T® &M & fe1d Sg
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80.

81.

82.

83.

In [Cr (C,0,)5)*~ the isomerism shown

is :

(A) Ligand isomerism

(B) Optical isomerism

(C) geometrical isomerism

(D) ionisation isomerism

Malachite is a mineral of :
(A) Magnesium

(B) Aluminium

(C) Copper

(D) Iron

The formula of tris (ethylene-diamine)
cobalt (iii) sulphate is :

(A)  [Co(en);]SO,
(B) [Co(en);],S0,
(€)  [Co(en);SO4]
(D) [Co(en);],(SO,)3

The size of hydrated ions of Na™, Mg?*,
AB* are in the order of :

(A) AB*>Nat >Mg?*t
(B) Mg2+ >Nat < AB+
(C) AB* <Mg?* <Na*
(D) Na*t <Mg2?* < AB+

80.

81.

82.

83.

[Cr (C,0,),~ ¥ & & wweeaa gt ?

(A) feoe gamEEm
(B)  WehTi¥Teh SHTeREl
(C) SHIHdE FHEEEd

(D) STRAH GHEEE

Hetrerze foraen @i 82
(A) Fiferm
(B) TegHiTEH

(C) =W
(D) oTERA

fra (sfufem <meriv) wEme (i) Tk
?ﬂ'{:lj%:

(A) [Co(en)s]SO,
(B) [Co(en);],50,
(©) [Co(en)sSO,]
(D) [Co(en),](50,)3

Na*, Mg?*, AR+ & Wi e
ST 1 SFH BT |

(A) AIB+ > Nat > Mg2*
(B) Mg2* >Na* < AP+
(C) AR <Mg?t <Na®
(D) Na*t <Mg2+ < AB+

SPACE FOR ROUGH WORK / {0 &T& & fed s7Te

Set- A
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84: Which form of carbon'has a two 84.

dimensional sheet like structure ?
(A), diamond

(B) coal

(C) graphite

(D) coke

85. The IUPAC name of K [Ni(CN),] is : 85.

A) Pott. tetracyano nickle (III)

B) Pott. tetracyano nickel (II)

SN

(
(
(C) Pott. tetracyano nickelate (0)
(

D) Pott. tetracyano nickelate (IV)

.86. What is the coordination number of 86

Cr in K;[Cr(OX),] ?
(A) o

(B) 5
C) 4
(D) 3

87.. EAN of cobalt in the complex ion g

[Co(en), Cl,] * is :
(A) 27
(B) 36
© 33
(D) 35

FE 3 e w9 s v % T
T E 2

(4) ¥

(B) Fa

(©) e

(D) F1®

K, [Ni(CN),] 1 [UPAC ST &4 § 2
(A) 1. AR (II)
(B) UI. ErERAIfTRA (1)
(C) . TgEEAIfERAe (0)

Nes s

(D) I TZERAIARRE (IV)

K3[Cr(OX),] H Cr il SUHEHAISH HEA1 1
g2

(A) 6

(B) 5

C) 4

(D) 3

[Co(en), CL,]* H wIeee 1 FHEl LAY
T& (EAN) 1 & 2

(A) 27
(B) 36
() 33
(D) 35

SPACE FOR ROUGH WORK / T% & & fei& S7g

0129/ TE-CHEM/RCE-M 35

Set- A



88. Which of the following nitrogen oxide is 88. 1= # § &N W TEISH HT TGS W
awhitesolid? 3WT? -
(A) NO (A) NO
(B) NO, (B) NO,
(©) NyO, (©) NyOq
(D) N©O; (D) N,O4
89. Which among the following is most  89. T W P gaifes aiig T2
basic ?
(A) ByO, (A) B0,
B) ALO, ®) ALO,
(©) Tiy0, (©) Ti04
(D) TLO (D) TLO
99. Which Lanthanide has the configuration 90. T oES W fo=ad 4f7, 5d, 652 § 2
, 47,54, 657 7
(A) Sm (A) Sm
(B) Gd (B) Gd
(C) Eu (€ Eu
(D) Tb (D) Tb
SPACE FOR ROUGH WORK / T & % o svig
Set- A 36
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91.

92.

93.

Which of the following gases has
maximum contribution to enhance green
house effect ?

(A) CFC
(B) CHy
(C) CO,

(D) N,O

Air pollutants mixing up with rains can

cause :
(A) High acidity
(B) Low acidity
(C) Neutral conditions

(D) None of these

The halides of III*Y group elements behave
as Lewis acids, the acceptor ability is

maximum for the halides of :

(A) T1

(B) Ga
© Al

(D) B

91.

92.

93.

frer & ¥ 2 W A T TeE THE B
T} 2

(A) CFC
(B) CHy
(© co,

(D) N,O

R WEUHI o o el B T S SHIoT € ;

(A) TS SFAE
(B) T srdtaan
(C) SeTH sraeen
(D) T ¥ ®E T

/

T T F a  SEe ORy o Ad
g1 fe & form Semge Y O W1 amal
3AfeeRad 2

(A) Tl

(B) Ga

(C) Al

(D) B

SPACE FOR ROUGH WORK / 1% &g & fod sg
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94.

95.

96.

The radius of La*3'is 1.06A. Which of
the following given values will be closest
to the radius of LU *2.

(A) 1.6A
(B) 1.06A
© 1.01A

(D) 0.85A

When alumina is electrolysed in presence
of cryolite, the gas liberated at graphite
anode is :

(A) F
(B) O,
(©) CF,

(D) F,0

Blue baby syndrome is caused by the

contamination of water due to :
(A) Phosphates

(B) Sulphur

(C) Arsenic

(D) Nitrates

94.

95.

96.

La*3 &1 1.06A B 81 few 7o aei &9
B 9 /A LU 3 % 5 & g g ?

(A) 1.6A
(B) 1.06A
(C) 1.01A

(D) 0.85A

THEIeNES i Sufedfa ® T w1 fa=
STTEeA W THIZE TS W v 91 719 Feherm ?
(A) F,

B) O,

(C) CF,

(D) F,0

it & fre verd @ gftm @ W s ol
fogm <Rt Bt 8 2

(A) HERE

SPACE FOR ROUGH WORK / 1% &t & for&d s
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97.

98.

Calculate the electronegativity of carbon
from the following data :

Ey_y=104.2 K.cal mol~1
Ec_=83.1 K.cal mol~!
Ec_;=98.8 K.cal mol~!
Xy =2.1

(A) 2.40

(B) 2.50

(©) 2.59

(D) 2.49

H,0,
22, 8]
Boil Yellow Solution
[C]
Orange Coloured Compound

[A] +Na[Cr(OH),] -

[B] + H,S0,

What are [A], [B], [C] ?

(A) CaCl,, CaClO,, CaSO,
(B) AgBr, Br,, Ag,S0,

(C) KOH, Cr(OH);, Cry(SOy)5

(D) NaOH, Na,CrO,, Na,Cr,0,

97. HTEA % fag@ ROl &1 AT ST MY

98.

HA I HerEal § Al
Epy_p=104.2 f6. % Hre—1
Ec_ =831 f% & da-1

Ec_p;=98.8 fo. & Hier—1

Xg=2.1
(A) 2.40
(B) 2.50
(C) 2.59
(D) 2.49
H,0,
[A] +Na[Cr(OH),] » [B]
Boil e faemm
[B] + H,SO, [C]
et T R A

[A], [B], [C] ¥ €2

(A) CaCl,, CaClO,, CaSO,
(B) AgBr, Bry, Ag,SO,

(C) KOH, Cr(OH)s, Cry(SO,)s

(D) NaOH, Na,CrO,4, Na,Cr,0O,
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99.

100.

(D)

There is no S-S bond is :

(A) 8,01

(B) 5,05”

$,07

If a molecule MX, has zero dipole
moment, the sigma bonding orbitals used
by M are :

(A) Purep
(B) sp hybrids

(C) sp?hybrids

(D) sp? hybrids

99.

100.

forg # S-S sy wEl uran = 7
(A) 507"
(B) 5,05

(©) s,0%”

$,07

T MX, 317 &1 fgea sl R E i M &
BRI S9N FoRT 7 FErHT SRUFeR e |

(A) ¥sp
(B) sp TEfEE

(C) sp?TEfS

(D) sp’ ERfES

SPACE FOR ROUGH WORK / 7% &8 & fo& e
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PART - 04

Education Psychology, Education

Evaluation and Assessment,

Pedagogy, Teaching Attitude

101. As per National Curriculum Framework

102.

2005 “The association of work with
education is indispensable” means :

(I)  The development of co-operative
mindset by the means of education.

(I)  Preparation for the participation in
economic and social change.

(A) only (D)
(B) only (II)
(©) () and (1)

Neither (I) Nor (1I)

The problem solving method is not suitable
for lower classes because :

(A) Itis a time consuming process

(B) Students are less interested

(C) Students do not possess sufficient
previous knowledge

There are no committed teachers

(D)

HIT - 04

Viferes wreiferT, foarr & erirer

101.

102.

Td gedich, fyreromomes,

*

o
U

T qrasr=rat SO 2005 % S1ER ¢ Fm
1 fen | o emufed &' o ¥

() e g1 wesiar 1 Amfasar &1
lEEaE]

(1) 3N R wmfTer weemE & wrierd
% o o

Feret (1)
(B) e (II)
© (@ R

(A)

(D) (1) 3R & (1)

B el < fer were-wwrem fafy suge
& T HifF

(A) =€ s 9 o arel Wi €
(B) foeneff wm ofa o &
(C) foreneli & e vaiw qd 9 & S

(D) wfderg foveres et &
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103. To enhance the efficiency and 103. Toiees i =feu fom garma ST et foem

~professionalism a teacher should : % faa &g :
(A) atFend a skill enhancement (A) Hre o FwRiEA | am o
programme
(B) become a part of formal/non-formal (B) T So=iich/ s foer o
teacher’s association & TS I
(C) both (A) and (B) (©) (A) iR (B) &
(D) none of the above (D) 9 H | IE e
104. Creativity is a branch of : 104. FSHIcHSd Th MBI T
(A) Industrial Psychology (A) s HHfeRe
(B) Educational Psychology (B) Tren wfera
(C) General Psychology (C) EHE HATETH
(D) Personality Psychology (D) wAfeRT EEIEEIE]
105. Good teaching is a function of : 105. ST EATTH B € :
(A) Sincerity and devotion to the (A) YA SFa9™T % gfg AR iR
profession of teaching. Tt =
(B) Principal’s powerful leadership in (B) fommera # grard =1 WK g
the school.
(C) High academic qualifications of the (C) Tl #t 3= STehrelieh el 1
teachers.
(D) High level scholarship of the (D) Tersl =t =1 T T fogen 1
teachers.
106. Characteristics of good test is : 106. 3= wero =t fosand ¥ :
(A) Validity ' (A) dear
(B) Reliability (B) Torergan
(C) Objectivity (C) =EgiTesd
(D) All of the above (D) SR weft
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107.- A teacher can play a significant role in
making gender friendly environment by :

(A) making classroom environment

gender sensitive

(B) ensuring greater participation of
girls over boy students

(C) giving more marks to girl students

(D) none of the above

108. In which category the students whose
behaviour is abnormal or create improper

problems are categorized ?

(A) Backward Children

(B) Mentally Retarded Children
(C). Problematic Children

(D) Gifted Children

109. What can be the main methods of

assessment ?

(A) Individual assessment

(B) Collective assessment

(C) Assessment through classmate

(D) All of the above

110. The nature of interaction in classroom is :
(A) Non-verbal
(B) Verbal
(C) Verbal and non-verbal
(D) None of these

107. T smenfia oTsper amaeRy & i §

Toerer Hecaryul fienRt 1 fHate o Thar @

(A) HeE-THE AER i foivT &g Helgsitet
T A

(B) BT wI AEGRI B i I | wfel
HX

(C) TSl I A ek TR

(D) SR H ¥ 1S ol

108. 5% =aer § SIE W ST o1 Bl §
1 ey B SFfad TR SO A § I
FY arerehl i o o W ST HFHA | ?
(A) Tuss et
(B) wedfg STeTh
(C) THHIHS dleish

(D) wfawredt sTereh

109. e % T Ik A 9 B Tehdl ¢ 7

(A) HAfKTIA 3TTeheT

(B) wWHfegh STrehei

(C) HeuIfedl gr 3Tehel
(D) SWrsR @t

110. Hen-hel W fafshan it wepfa S & -
(A) S1-HifEes
(B) Tifa®
(©) difges iR F-Hfew
(D) T | FE HE
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111. “Humar behaviour flows from three  111. *‘HMd S7aeR TH I&A il ¥ Fafed a1 e :
main sources : desire, emotion and =31, W SR JA FE AR ¢
knowledge” is 'sa_id by :
(A) Plato (A) =g
(B) Socrates (B) HHUd g
(C) H. More (C) WA HsH
(D) A.PJ. Abdul Kalam (D) TS, 3Tgel o™ g
112. Which set of activity indicate the correct ~ 112. STTHARHS Teh HI SR Fehd ¥ Hehd HT
approach to Inductive reasoning ? STl 58 A T
(A) Specific instance - observation - (A) fafirse oA - TR — MLl
generalization - verification - A9

(B) Observation - verification - specific (B) o1EaIT - HeArd - fafire AU -
instance - generalization YT ERTO

(C) Observation - generalization (C) STociHT ~ HEFHIHT - F9T -
verification - specific instance fafyree s=ATd :

(D) Verification - observation - specific (D) TG - 3Teih - fafire N -
instance - generalization HHRISHOT

113. What is the merits of assignment ? 113. SGFE U T AT SA L ?

(A) Seriousness for work (A) & & i v

(B) More workload on students (B) Tornfefi & wriwR =i eferean
(C) Encouragement of self study (C) T I Wi

(D) None of the above (D) ST H 9 FE T

114. In the rural sector the responsibility of 114. TTOT &5 B grafies foen =1 Saeaed e
primary education lies on : T
(A) Gram Panchayat (A) T YEEd R
(B) District Council (B) Toem aftog W
(C) Co-operative Societies (C) WEHRI Heesli W
(D) Both (A) and (B) (D) (A) 3R (B) Tl W

SPACE FOR ROUGH WORK / & &M & fo& se
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115.

116.

117.

“A project is a whole hearted purposeful

activity proceeding in a social

environment”. According to whom ?
(A) S.C. Parker
(B) J.A. Stevenson
©)

(D)

W.H. Killpatrick

John Dewey

In which stage the mental development
of children is fastest ?

(A) Later childhood

(B)

(C) Early childhood

Babyhood

(D) Pre-Adolescence

State the reason behind the difference in
allotropes of carbon. This question is
related to which aim ?

(A)
(B)
©
(D)

Understanding
Knowledge
Skill

Application

115.

116.

117.

" TS WIS aTaTee] § 0 Herral |
fopan < oot Sevaqul ¥ 17 foheeR ot R
®?
(A) TEEH. TR

(B) .U Ea=A

T 0. foretdfeen

S Eeit

g stae § o=l ol A faeng oSt 9
B e ?

(A) SR ST

HeF & YT B TI=1dT Al SR FaqRY -
vv fore 29T © deifuq €2

(A) w°H
(B) M
(C) W

(D) STIFENT
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118. Which of the following statements

regarding cultivating learner’s sensitivity
towards learning is/are true ?

(P) Pedagogy has to depend upon the
process rather than the product.

118. Torameft & s1ferm & yfa Hagsiied & fashm

F F oy ¥ frafafaa § =6 978 weE
T T?

(P) faegor e SE W SN GiRAN W
frefk S T

mwﬁmﬁqﬁagﬁmaﬁaﬁ

(Q) Teacher should enquire about Q)
previous knowledge in relation to T o de # 78 I i ISars Rl
what is being taught.

(A) () only (A) FF (P)

(B) (Q) only (B) F Q)

(€) Both (P) and (Q) ©) (P) 3R (Q) I

(D) Neither (P) nor (Q) (D) T (P)T(Q)

119. “The cognitive development’s stage of 119. foHg w1 ¥ e - ¢ freiemen Q € SaHeTs
formal operation starts from faarra 31 g IR & e1a<e IRy
Adolescence”. Who said this ? RGN
(A) Terman (A) =TA
(B) Piaget (B) T
(©) Baylay (© ¥
(D) Livesay (D) fo=@

120. The competency of an effective 120, TH TS T I &= % TR0 7 SNUR
communicator can be judged on the basis BT
of :

(A) Personality of communicator (A) HO9% 1 Afad
(B) Experience in life (B) SICERCD NS
(C) Interactivity with target audience (C) afia <efel =t fafshamsierar
(D) Meeting the needs of target (D) wifera el @t STeRIehdel 1 gfd
audience
SPACE FOR ROUGH WORK / T& &9 & & wg
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T121.

122.

: v..(A)_

123.

According t_d George David Bifkhoff, the
relation between the complexity (C) of the
object, symmetry/order (O) and aesthetic
measure (m) is :

(4) O

The role of teacher in a social

constructlv1st classroom 1sto:

allow student s responses to drive

his lesson.

(B) focus on student’s learning rather
than on teacher’s performance.

(C) facilitate the learning environment
where students are encouraged to
be responsible and self governing.

(D) All of the above

Which among the following is/are

point(s) of concern for désigning a

curriculum ?

()  Evaluation techniques

(I[) Subject matter

(Il) Learning experience

(A) (D and ()

(B) (I)and (II)

(© only@m

(D) (1, (IT) and (1)

121.

122,

123.

(©), wwfafd = % (0) 3R H<iersh 7gd
(m) FAA TG :

o
]

C:
B
R
5|0 nlo 0lB

(8)

T WIS TaTelral hedl H 187k wh fHent

ERETCER y

(A) @ﬁhﬁuﬁrmaﬁ%wjmmaﬂ
e w1

(B) mwﬁmaﬁaﬁmﬁﬂﬁw%
ST W e Hfga H

(C) U siferm e i i HY S
formeff swefae @R ey wWEH &%
T 9fta ford w9

(D) IR |l

frrtifera o @ wrewsRd fHio & Hed # wh

foramot forg &/8

I Hoaa giary
m frerE
(II) 3 3rgE
(4) @ D

(B) (II) 3R (III)
(©) e (1)

(D) (), (II) S (I0I) . .
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124. “Item Analysis” for standardization of 124. FHdl T0eO & gAML & fag ‘'ug
any test is done in which step ? faguor fve 9ue ¥ fra s g ?
(A) Planning the test (A) & B A S
(B) Preparing the format of the test (B) Ao T YT AT
(C) Trying the format of the test (@ THRIOT F YIEY hT S
(D) Evaluating the test (D) &I BT eIk HEAl
125. Demerit of Present evaluation system is : 125. 9dHM L EIES JUTTelt I ST © :
(A) Development of self confidence (A) I ICEEIL I REE AL
(B) Encourage rote learning (B) & ol Wi
(C) Giving less importance to (©) Hgifaer fawei T %A Ao &
theoretical subjects
(D) Giving more importance to (D) wrEifTes faweii &1 aifess weed <
practical subjects
126. In which subject, subject related games,  126. ® ¥ fawg & fava § dasht wa, wfew,
riddles, stories etc. should be used ? el srfe w1 g foear S =nfen ?
(A) Mathematics (A) iU
(B) Language (B) T
{C) Science (C) fomm
(D) Social Science (D) wrHISTR fo—e
127. The word motivation has been originated 127, STRYITON 315 %! Scafd Tk T AAfed 71k &
from the Latin word. Whose meaning B e ad 2
is :
(A) Encouraging (A) ST T
(B) Pushing (B) &R oAl
(C) Pulling (C) @ia
(D) Directing (D) TR e
SPACE FOR ROUGH WORK / T® &Td & o S
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128. The method for sequenced study in 128. T4l =gaer Td "EATEs Ufswrar 1 fodl

controlled condition of behavioural and Tt stereen § shverg sTeae %A =i fafy
mental process is : ?:

(A) Experimental method (A) W fafy

(B) Observation method (B) & fafy

(C©) Survey method (C) §d fafy

(D) Introspection method (D) safaem fafy

129. The correct sequence of the behaviour as ~ 129. T&HRH 3R GoeH %’ﬁ'ﬂ?ﬁ o TRl

per the taxonomy of manipulative and STTER I HagR 1 TE W% :

motor skills are : R

(A) manipulation- precision-imitation- (A) %TEFI - HEIRdl - Tohd - Ifveafa -
articulation - naturalization. EEAGETU

(B) imitation- precision-manipulation- (B)  +Tehel — GeTehal - BIHT — Wepfarehae -
naturalization -~ articulation. sifveafa

(C) imitation-manipulation-precision - (C) el - U - F2rehal - Alveafad -
articulation - naturalization. B CARETY|

(D) manipulation-imitation - precision - (D) TR - Tohe ~ TIehdl -~ ATl -
articulation - naturalization. EEAGERY

130. “Mistakes are not to be covered up; they 130. ** Wﬁwmmmﬁw

are to be used constructively” means : w9 § R H @ ‘HIT;’{” HALR

(A) Teacher should discuss the errors (A) Toerr we foremefl g 1 T _g’f?.?ﬁ %
made by a student with the entire ?Faﬁ IR H
group. ' S

(B) Teacher’s focus should always be (B) e 1 o wa ﬂ_ﬁﬂﬁ Elﬁ"'l'(‘lﬁiﬁ
on mistakes committed by students. R SHigd B e |

(C) Mistakes should be used as a tool (C) et 1 - faveroT %ﬁ EEERW
for self analysis. % &9 H T H AR S e |

(D) The occurrence of errors should be (D) Ffei =1 BT < ST =fe |
avoided. '
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AT - 05 134. * el =1 SI1 ST hare o e §

i fe<t y
(A) ST I Y T T |

131. S TE i ot & fag =R fosheq fed ™

T o TE fashey 1 =9H S R (B) TS A heA A FTA T |
(A) Hfam
(C)  eherm =1 STETST 3Afereh et B
(B) T
© (D) = T SIS & YA & Sl ¢ TR SEH
(D) g™ fema Teref ¥ 2

132. ‘el ARAT el w1 AL T

(&) F T 135. ‘fera sfs st wfsfs,

(B) o er i i T T -y
T 7 Hd A o, =G Foal F1' -

(C) erEn 3 Ufedl o I 91 STADR 7 ?

(D) SY&TYEH T &

(A) IR TS il

133, % B % Y% =0 H 28 AEME el § ?
(B)  3THTIR ToI HhIfeRT

(A) efofifae

B) =@

®) (C) =g ThRITH
(C) <@

(D) e (D) v H g T
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136.

137.

"PART - 06

General English

The Red Cross gives to people
in need.
Pick out the correct word to fill up the

blank.

(A) ade
(B) aed
(C) aid
(D) aide

My brother and I borrow one another's
clothes.

Indicate the class of the underlined
pronoun in the above sentence by
selecting the correct alternative from the

following :

(A) Reflexive
(B) Reciprocal
(C) Indefinite

(D) Demonstrative

138.

139.

140.

The Rambert Dance Company won the
country’s  largest arts  prize,
the Prudential Award.

Which of the following best expresses the

above sentence into passive form ?

(A) The prudential Award has been
won by the Rambert Dance
Company.

(B) Thelargestarts prize, the Prudential
Award is won by the Rambert
Dance Company.

(C) The country’s largest arts prize, the
Prudential Award, was won by the
Rambert Dance Company.

(D) The country’s largest prize, the
Prudential Award, had won by the
Rambert Dance Company.

Tom wanted to buy the leather jacket

_, his empty wallet persuaded

him not to.

Choose an appropriate conjunction form
the following to complete the above

sentence.

(A) earlier

(B) afterwards
(C) moreover
(D) however

The idiom to hang up one's hat means :
(A) To make oneself comfortable in

another person’s home

(B) To have respect for someone
(C) To keep a thing secret
(D)  To talk nonsense
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General Knowledge of Computer

141. CPU gets the address of next instruction

PART - 07

to be processed from :

(A)

(B) Memory address register

Instruction register

141.

HIT - 07

FHEHET T U SATeRIT

CPU®I _ Y T B9 are) 7Tt
fsr =1 a1 Theran ®1

(A) T W

(B) AN Tgw R

(C) Index register (C) 3veH o
(D) Program Counter (D) I HI[TX
142. Which have the largest memory storing  142. ferm stiftesat Hifem T & wad o< €IS
capacity from optical media group ? &A1 S ?
(A) DVD-RW (A) DVD-RW
(8) DVD-ROM (B) DVD-ROM
(C) Blu-Ray (C) Blu-Ray
(D) DVD-RAM (D) DVD-RAM
SPACE FOR ROUGH WORK / T% & & o1& 718
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143. In graphical system, the array of pixelsin 143, W%i%a fawey ¥, firemr A fisaew #) weof

the picture are stored in : H . HER @ R
(A)  Memory ‘. (A) HER

(B)  Frame buffer (B) %W T

(C) Processor (C) YEW

(D) All of the above (D) Ul |t

144. To spell check which function key you  144. 39 HH W HRE Foil Vel I » o

will press ? Te ?

(A) F5 (A) F5

(B) F6 (B) F6

© F7 (C) F7

(D) F8 (D) F8

145. What is the fuser roller coated with ? 145. TSR e frass w1 aiftg 2 8 2

(A) Teflon (A) THAM

(B) Aluminium (B) Ugfafm

(©) Ink © ==

(D) Rubber (D) W
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146.

147.

148.

P

_ PART-08

General Knowledge

Which of the following is not a
department or institution of planning
commission ?

(A) Coordination department
(B) Subject department

(C) Super Cabingt: - -

(D) National development council

Who founded the ‘Satyshodhak Samaj’ ?  147.

(A) Pandita Ramabai-
(B) Mahadeo Govind Ranade
(C) Mahatma Gandhi

(D) Jyoti Rao Phule

Temperate zone line between which

contour ?

(A) North of tropic of cancer and south

to tropic of capricorn

(B) North of tropic of capricorn and
south of tropic of cancer

AT - 08
AR JH

146, TreAfafaa faum ar S Jsm S

148.

TR

(A) "= faam

(B) fors ferum

©
(D)

T fawm afitg

‘gesiee gE S e fore e an?
(A) dfed wETE

(B) TeRE Mia< TS

(C) TR et

(D) e W& g

viraren wiesiy forg & &l Fed 2

Fdh Y@ % I TE HHL @1 & &0
F T

(B) TR YW1 % I TH heh (@I & S0
% g

()

(C) Region arounded the equator (C) e Y@l & 3 I % ol
(D) West of the tropic of cancer and east (D) e T@1 % ufked TE W L@l o i
of the tropic of capricorn o9l
SPACE FOR ROUGH WORK / & & & ferd s
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149. Which of the following folk song of 149. FrAfafed H @ &9 Q1 FAEE! a‘!fwilaw

Chhattisgarh is a narration of Purana ? AT ?
(A) Suvageet (A) garid
(B) Sarvangeet (B) HIEI
(C) Kewala Rani (C) Hefer Tt
(D) Lorki (D) TR

150. In which Article of Indian Constitution 150. YREE Higgm § nfde wasa &1 efHER

the Right to religious independence is fra 31'3’@?{ T ger for T ¥ 2
given ? -
(A) Article 25 (A) ST 25
(B) Article 12 (B) =T 12
(C) Article 30 (C) 3TT=% 30
(D) Article 38 , (D) T 38
-00o0- -00o0-
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SET - A
IR AfRA T BT EHT : 3 G } { JferaRaw 3 : 150
Time for marking answers : 3 Hours Maximum Marks : 150
e
1. 39 yHA-Yfe B e o @
(1) fdes wE 30 3w
(2) HEE WA 35 3i%
(3) STEETH WA ‘ 35 3i®
(4) Hferr g, foet § stiehem e qeaie, e, e st 30 3T
(5) wH fe=t , 05 31
(6) T FUSH 05 37
(7) IS I HH SRR 05 37k
(8) WM I 05 3Tk

Tedeh U9 1 3 1T A 150 T H A ¢

2. W % W, & T OMR I-¥e (AEEe) maﬁwﬁﬁm:

3. Terd SO SAfehd @i WX 1/4 ek RIS STAT |

4. T off T % Forporet A A o Td Hiegd W w1 TR aieid 8 |

5.  OMR StR-IE (SEEM) T TR ) e UEft 1 STomeert 7 &/ sud o8 98 %2 5 =0
I Arg 71 faeme e ug 9 9% werta®y 98 e &l S |

Note :

1.  This Question Booklet consists of Parts namely :
(1) Physics Chemistry 30 Marks
(2) Organic Chemistry . 35 Marks
(3) Inorganic Chemistry 35 Marks
(4) Education Psychology, Education Evaluation and Assessment, 30 Marks

Pedagogy, Teachmg Attitude

(5) General Hindi 05 Marks
(6) General English - : 05 Marks
(7) General Knowledge of Computer 05 Marks
(8) General Knowledge 05 Marks
Each question carries 1 mark. All 150 questions are compulsory.

2.  Indicate your answers on the OMR Answer-Sheet provided.

3. 1/4 mark will be deducted for each wrong Answer.

4. Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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